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B. Com. (Gen./Voc.) EXAMINATION
(For Batch 2011 & 2012 Only)
(Fifth Semester) |
INCOME TAX—I
BC-501

Time : Three Hours Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt any four
questions out of remaining eight questions. -
All questions carry equal marks.

~ 1. (a) What is Casual Income 7
(b) Explam partly agriculture and partly -/
business income.

(¢) How do you treat the unrealised rent of
the past recovered in the current previous

year ?
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Income from traﬁs’rer of a

long term capital assets situated

in India | \ 40,060
Interest on debentures of a

company at Manchester

i Eng[and),-wl"l'ich was reé{eived

in India_ 12,000

Interest received from Mr. George,

a non-resident on the loan

provided to him for his business! I

carried on in India 10,00d

Royalty received in Germany

from Shri Kailash a resident

in India for technical sonficées

provided for a business c_am'éd

on in South Africa | 40,000

Fees from an Indian company - :

carrying on business at London

from technical srervices rendered

at London having been directly

dcposited by the company in -

his bank account in India 60,000
3 P.T.O.



(b)" How do you determine’ the residentig |f(

" plus a dearness allowance of Rs. 3,000 p-m.

“ " half the amount consisted of employers

B-5081 ‘ 4

“Compute Shri Karan's total income for_-
the .As‘sesse-ment' Year 2013-14, 'if he is
- (1) Resident (ii) Not Ordinarily Resident
(111) Non-resident.

4
& i

status of a Company 'in India ? B!

Mr. ABhimanYu is employed in a factory as a

manager on a monthly salary of Rs. 30,000

He is a member of an unrecognized provident
fund to which he contributes 10% of his salary ;
and his emioloyer also contributes an equa]-’;ﬂ
amount. On Ist August, 2012 he resigned and

joined ariother factory on the same date on a

monthly salary of Rs. 40,000 plus a dearness

allowance @ 10% of his salary. He receivL (

Rs. 1,00,000 (including Rs. 20,000 interest)

from the unrecognized provident fund of which

contributions and interst thereon. In his new

employment, he contributed 15% of his salary

to a recognized prévident fund while hls

employer contributed Rs. 42,000. He .is alsos

provided with an unfurnished rent free house

by the ‘second employer in a city ‘(pqpu'latioﬁ\

12 lakh), the municipal valuation of which is
" Rs. 2250 p.m.

Find out.his taxable salary for the Assessment
Year 20;13—14 assuming that the salary is due.

on the first on the next month. 16

4, (a) Mr A is the owner of house property in
' Delhi. It has been let out for Rs. 2,70,000.

per annum. The municipal tax payable

by the owner comes to Rs. 30,000 but
‘the'landlord has taken an agreement from
the tenant stating that the tenant would

pay the tax direct to the municipality.

The landlord, however, bears the

following expenses on tenant‘s‘_‘amenities

under an agreement : ° 12

. Rs.

Water charges 3,000

(2-04) B-5081 5 : pno.




Life Maintenahce 3.000
Lighting of stairs 2.400
Gardener's salary 3.600
The landlord claims the following
deductions :

| Rs.( it
Repairs 50,000
Land Revenue 6,000 P
Collection Charges 3.000

Compute the taxable income from the
house property for the Assessment Year
2013-14. :

(b)

Mention the exempted incomes from

house property. 4

Abhishek is a resident of Chandigarh. He di
not own any house and lived in a rented house.
He had purchased gold for Rs. 2,00,000 in
April, 1981. He sold this gold in July 2012 for
Rs. 24,00,000 and invested the sale proceeds
in August, 2012 in the pﬁrchase of two

- B-5081 : 6
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residential houses—one at Chandigarh for Rs.
14,00,000 and the other at Gurgaon for Rs.
10,00,000. Is he liable to pay tax on capital
gains for the assessment year 2013-14 ? If so,
determine the amount of capital gain liable to
tax. Would it make any difference, if Abhishek :
(a) invested the entire amount of Rs.
24,00,000

residential house at Chandigarh ?

in purchase of only one’

invested Rs. 10,00,000 in the purchases
of one residential house at Gurgaon and
deposited the balance of Rs. 14,00,000
in a bank ? '

(b)

The cost inflation in 1981-82 was 100 and in
2012-13 it was 852._ 16

Profit and Loss Account of a trader shows
Net Profit .of Rs. 85,000 after debiting
the following items. Find out income .
from business for the Assessment Year
2013-14 :

(i) Payment of income tax Rs. 10,000

(a)

and income tax proceedings
| expenses Rs. 20,000.
(2-04) B-5081 7 P.T.O.




(b)

B-5081

following : 8

(i) Interest on loan for taken for
payment of income tax Rs. 5,000.
(iii) Sales Tax. Rs. 5,000 and interest
Rs. 1,000 for delay payment of sales

tax.

(iv) Cash payment to a creditor(‘
Rs. 30,000.

(v) Municipal Tax Rs. 6,000, one third
portion of the house is used for
business and half portion is used
for self resident and remaining

~ portion is let out.

(vi) Income of Rs. 2,000 accrued during
the previous year is not recorded in
Profit and Loss Account.

Aforesaid net profit includes Rs. 5,000
for recovery of old bad debts, which were
allowed by Income Tax Officer in past(- i (

In computing incomes from business what
are the prdvisions relating to the

(i)  Deductions allowable only on actual

payment

(i1) Determination of profits and gains
of business of plying, hiring or

leasing goods carriages. 8

7 Discuss the provisions of the Income Tax Act

regarding the following : g+8=10

(1) Depreciation

(11) Exempted Income.

8. Describe the method of computing income

under the head- ‘Income from other Sources’.
: 16

9. What are the provisions of the Income Tax

Act, regarding-: 4x4=16
(i) Gratuity
(i) House Rent Allowance
(iii) Medical facility
(iv) Capital Assets.
(2-04j B-5081 9 : P.T.O.
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4853
B. Com. EXAMINATION
- (For Batch 2013 & Onwards)
| (Fifth Semester)
INCOME TAX-I
BC-503

Time : Three Hours - Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is
compulsory. All questions carry equal marks.

1. (a) Define Person u/s 2(31).

e (b) Explain Assessment Year.

(c) Explain types of residents.

(d) Food provided at the place of work by a
company during working hours to a
specified employee or the value of ¥ 60
per meal for 100 days during the previous

~year. Find out the amount of taxable
prequisite. =

(2-11) B-4853 - ~ PTO.




(e) Explain the meaning of Business and
Profession.

(f)) What is meant by grassing up of
Interest ?

(2) Explain short term capital asset.
(h) What is annual value ? 2><8:18

What are the different categories into which
the assessees are divided with regards to
residence ? Give a brief account of each of
them. 16

Write short notes on the following :
(1) Tax Planning
(i) Tax Evasion

(iii) Tax Avoidance. Gt5:+5

- Shri Khajan furnished the following particular(c
for the Financial Year 2014-15 :

4
(i) Salarye i 15,000 pm
(iij Dearness Allowance 1,250 pm
(ii1) Entertainment Allowance 1,000 pm

: B-4§S3 2

(iv) Employer's and Employee's contribution
to a recognised Providend Fund ¥ 24,000
each.

(v) Interest from Providend Fund

@ 9.5% p.a. Z 19,000
(vi) City compensatory allowance 200 p.m.
(vii) Medical allowance Z 10,000

(viii) He has been provided with the facility of
an unfurnished house by-the employer in
‘a town (population less than 10 lakhs)
for which the employer charges ¥ 500
p.m. The fair rent of the house is
< 30,000 per annum. The house is owned
by the employer.

(ix) The employer has employed for him a
sweeper @ I 200 pm and a servant
@ X 750 pm.

Compute the taxable income under the head
salary for assessment year 2015-16. 16

Define ‘annual value’ and state the deductions

 that are allowed from the annual value in

computing the income from house property.

(2-11) B-4853 s P.T.0.



6. Mrs. Sonia furnishes the following part'iculars.

Compute her income from other sources for

the assessment year 2015-16.
(i) 7 15,000; 8% Tax-free Govt. Securities
(i) T 30,000; 10% debentures of a tea
company (listed company) . (
(iii) T 40,000; 11% Debentures of ABC Ltd.
(not listed)

(iv) ¥ 20,000; 10% bonds of UP state
Electricity Board. ‘

(v) ¥20,000 in Saving Bank Account in post

office, interest @ 4.5%. :
‘(i) Z 60,000 in fixed deposit with a bank,
: interest on which is 10%.
(vii) ¥ 27,000, 10% Tax Free Commercial
Securities. .
(viii) ¥ 3,000 interest on post office tiﬁx(
deposit.

- He took a loan to purchase debenture in tea

company and paid ¥ 1,200 as interest on Loan.
He also paid ¥ 200 collection charges to the

bank for collecting interest on these debentures.

B-4853 i 4

(a) ~ Explain the provisions of Sec. 44 AD
regarding computation of Income from
eligible business: .

(b) Explain the provisions of Sec. 44 AE
regarding computation of Income business
of playing, Hiring or leasing Geods

Carriages.

M. Hanuman submits the following particulars
about sale of assets during the year 2014-15 :

Jewellery  Plot Gold
3 % 4
Sale Price 7,00,000 18,24,000. 5,00,000
Expenses on sales Nil 24,000 Nil

Cost of acquisition 75,000 2,00,000 1,00,000

"Year of acquisition  1987-88  1984-85 1999-2000

‘He has purchased a house for ¥ 15 lakh on

01-03-2015. Calculate the amount of taxable
capital gain if CII for 1984-85, 1987-88, 1999-

- 2000 and 2014-15 are 125, 150, 389 and 1024

respectively.

(2-11) B-4853 5 14 P.T.O.
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